光學作業 應物三甲 0932363 沈帛寬

Problem 12-08

A multiple-slit aperture has (1) N=2 (2) N=10 (3) N=15000 slits. The aperture is placed directly in front of a lens of focal length 2 m. The distance between slits is 0.005mm and the slit width is 0.001 mm for each case. The incident plane wavefronts of light are of wavelength 546 nm. Find, for each case,
(a) the separation on the screen between the zeroth- and first-order maxima
(b) the number of bright fringes (principal maxima) that fall under the central diffraction envelope
(c) the width on the screen of the central interference fringe.
Sol:
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(b) 繞射中央亮紋寬度
[image: image3.wmf]218cm

2.18m

10

0.001

10

546

2

2

b

2L

y

3

-

-9

=

=

´

´

´

´

=

=

D

l



[image: image4.wmf]個

亮紋數

繞射中央亮紋內的干涉

9

1

-

21.8

218

=

=

\
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